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MAULANA ABUL KALAM AZAD UNIVERSITY OF

 TECHNOLOGY, WEST BENGAL
‘Paper Code : MCA-401

SOFTWARE ENGINEERING & TQM
Time Allotted 3 Hours B E )  Full Marks 70

The ﬁgures in the margm indicate ﬁtll marks

Candldates are required to give their answers m thezr own

words as far as practtcable

GROUP A _
( Multiple Choice Type Questions )
1.  Choose the correct alternatlves for the following : -

) | Evolutlonary model is sometxmcs known as
~a) meta model . v
b) successwe version and mcremental model
c) ‘; both (a) and (b) ‘
-d) none of these. . S
ii) What part does not belong to Feas1b1hty Study ?
o a) Legal Feas1b111ty
'b) Economic Feasibility - ,
c) Political Feasibility -
d) Operational Feasibility.
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m) Wthh phase is mcluded in the SRS ?
a) Error handling :
¥ b) Data descnptlons o
» c) y Functlonal Description
| d) Performance Descnptxon "
iv) ) 4Wh1ch of the fonowmg is able to measure the size of
'the software w1thout its source code ? |
'a) FPA R Rt L
b) IFM B L
- c) Cyclomatic 'Complexity
d) None of these. o
v) - ‘The most desirable type of couphng is
o a) control couphng b) Commeon coupling
- ¢} Data couphng ' d) Stamp coupling.'
vi). Cardmahty in'an ER~D1agram represents |
o8 number of attnbutes in an entlty '
b) "the order of co- related entltles
c) :the number of sub- entities
.d) degree of a relat1onsh1p ,
o vii)v Critical Path Method 1s a task of
' a) Project Planmng b) Project Scheduhng
c) Project Assessment 'd) Risk Assessment.
vii) Which of the - following models require the
: mammum mvolvement of users'? '
) V model '
vb‘) Prototype Model |
o Splral Model ‘ -
- d) Formal Method Model. |
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ix). “Accordmg to. COCOMO no of cost drlvers 1s . f

@ 10 b 15
S g o200 T d) 14
. x Data hiding can be achleved by
’ a) “Inheritance ' = b) Encapsulatlon
c) Abstraction .  d) Polymérphlsm
- “ GROUP B j

K Short Answer 'l‘ype Quectiom ) |
v ‘ Answer any three of the followmg 3x5= 15 ,y
2. "EVery Bmary Relational schema is in BCNF" Prove this .
. statement Define Candidate key. . . 4 +1

3, Discuss different kinds of Anomahes thh an example
‘.Dcﬁne Lossless join decomposmon wn:h example 3+2

4, "Show by ‘example that there are schedules pOSSlble _
: under the Tree Protocol that are not possxble under the Ve
~ Two Phase Protocol and vice versa. B 2 + 2— '

" 5. . Explain with - example a preemptxve techmque for
"~ deadlock prevention. : :

- 6. Explam the usefulness of ACID propertxes : 2 1+4 _"

, GROUP - C
( Long Anmr ‘rype Questions ) '
. ’ Answer any three of the followmg 3 x 15 = 45 :
' 7 a) Consxder the following - set F- of functlonal-' |

dependencxes for relation schema R= (A B, C, D E) SR
~and F = {A->BC, CD->E, B->D, E->A} ~

1) Compute F*. (Closure of F)
i)  Compute B*. (Closure of _attnbute' B) -
. iti) List the candidate keysforR. ~ 5+3+2
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~ b)-. For the relatlon R = (A,B,C,D) and FD F={A>B,
" A-C, C-»D}, Ris decomposed intoR1 = (A, B,C, P)
and R2 = (C, D). Is the above decomposmon :
. ‘lossless 'join - decomposition - ? Dose this
~ decomposition preserved the dependency ? S
8. a) LetR (A, B, C, D) be a relation, and F = (A 5B,
+ A->—C} set of MVD., Decompose Rto design 4 NF.
b’) What are the features of OODBMS ? What are the
. advantages and dxsadvantages of OODBMS ?
c) State the rules of concurrency control. -
‘ . 5+(3+2+2)+3‘ ‘
9. - a) : Draw the . precedence graph to ‘test conflict
' serlahzabilxty of the following schedule :'
- 'Rl (X), R2 (X); W1 (X) R1 (Y); W2 (X); W1 (Y). _ .
b) What  is cascadeless schedule ?  Why is
: -cascadelesSnes's of schedules desirable ? Prove that
.. every cascadeless schedule 1s also recoverable
S ‘schedule _ /
- '¢) " Define DKNF. Gweanexample 54+ (1+2+3) + (2+2)' -
10. ‘a) - What are the advantages of DDBMS over DBMS?
- .b) Descnbe the different kinds of fragmentatlons o
¢) Explain the different levels of dlstrlbuted
‘ ‘transparency S 5+6+4 ‘ )
11. Write short notes on any three of the followmg ~ 3x5
o a) Checkpomts A '
b} 'Shadow Paglng
¢} CASEtools S
- d)  Advantages of PL/SQL over SQL.
e) Txmestamp ordermg protoco]
b
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